
Yard Helper Kid’s Wheelbarrow Assembly Instructions 
 

 
 
 
 
 
 

Tools required:  adjustable wrench, flat head screwdriver Pre-Assembly:  verify all components 

 
 

 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

 

#     Description (Qty.)   #     Description (Qty.)    #     Description (Qty.)   

#1 – Handles (2)    #6 – Front Frame (1)   #11 – 55mm Axle Bracket Bolt (2) 
#2 – Poly Tray (1)    #7 – Leg Connector (1)   #12 – Flat Washer (8)  
#3 – Wheel (1)    #8 – Leg (2)    #13 – Lock Washer (8) 
#4 – Axle Bracket (2)   #9 – 45mm Tray Bolt (4)   #14 – Nut (8)  
#5 – Axle (1)    #10 – 14mm Leg Connector Bolt (2)     
 

 

 
 

STEP 1:  Place the Handles (#1) into the Front 
Frame (#6) – line up holes on both sides of 

Frame. 

 

 
STEP 2:  Attach the Leg Connector (#7) to the outside of the 
Legs (#8) by placing Leg Connector Bolts (#10) through the 

Leg Connector and Legs.  Use Flat Washers (#12), Lock 
Washers (#13) and Nuts (#14) to secure.  Tighten Loosely. 

 

 
STEP 4:  Place Axle (#5) through Wheel 

(#3) and slide one Axle Bracket (#4) onto 
the Axle on both sides of Wheel. 

 
STEP 5:  With Wheelbarrow upside down, place Wheel Assembly 
from Step 5 on Front Frame (#6).  Insert Axle Bracket Bolts (#11) 

through Frame and Axle Bracket (#4). Use Flat Washers (#12), Lock 
Washers (#13) and Nuts (#14) to secure.  Tighten Loosely. 

 
 

STEP 6:  Tighten all Bolts.  Your Yard 
Helper Kid’s Wheelbarrow is ready 

for use. 

#6 #1 

#8 

#7 

#10, #12,  
#13 & #14 

#3 

#5 

#4 

#2 

#6 

#9, #12, #13 & #14 

Warning: CHOKING HAZARD – Small Parts. Not for children under 3 yrs.  Check bolts and nuts often to ensure they 
are securely fastened.  Wheelbarrows are unstable and can tip.  Do not ride in wheelbarrows. 

Marathon Industries  877-425-1640  www.marathontires.com  Made in China  
 

 
STEP 3:  Place the Poly Tray (#2) upside down and insert (from 
the inside of the tray) the Tray Bolts (#9) through the Tray, the 
Handles and the Leg Assembly.  Use Flat Washers (#12), Lock 

Washers (#13) and Nuts (#14) to secure.  Tighten Loosely. 
  

#2 

#8 

#6 

#11, #12, #13, 
& #14 

#1 


